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OSHFR (M)
NO R RS R EaEn(1/2) | FAREEARE
1 kT EsE 38,250,000 19,125,000 6,375,000
2 |EEERE 23,800,000 11,900,000 3,966,000
3 |=EEER mnmM 13,700,000 6,850,000 2,283,000
4 | IR—UFILHRFILYOU 31,666,000 15,833,000 5,277,000
5 |RiER 1—RKRFIL 5,950,000 2,975,000 991,000
6 |LHER mIEOE tHOS 96,000,000 48,000,000 11,801,000
7 |LEEREEO% tROBER) 22,000,000 0 7,333,000
5t 231,366,000 | 104,683,000 38,026,000

O3AER (6RMALENSDERE) (M)
NO R REH S Ewen/2) | EHEEEIRE
8 |SMERHREE 13,099,000 6'549’50g 24,’3185351090909
9 |BEOVL BRARE 1,780,000 890000 225998
=t 14.879.000 7.439.500 2.479.000
21 A 2,480,000

fH1E®E: 38,026,000—2,480,000 = 35,546,000




